A%s;qnmen—\- 12 3

(1) Coot of Shecke = # oF Sheves % Cost pet Shore

= SO0 X 26.2\
= $§)L\B\.‘SO
A Duid = Cost o D Slocke + Ceommissien
= 5 1_‘31 So+ 24. TS

”lﬂf_\;g Hol. LIS\(
@) 2D Cost ot Sheck = 166 X 110.S0
=0 oro(
\°> Tota | lmo‘i = OSO +9 99 —{if | Og%.ﬁ?ﬂ

=sco x 35 o

(ﬁ\"f Boo\

o) Tote! Bid = 17, 200 + HS. SO

@ o) Cost of Shecle =

/:‘&\7 T So}
@ 6*3 Cosim Dok = Soo X 232.90D
Jl:zto Hso]

b) Totel Pad = lo, HSo + %5
‘$Ho s1< |




@&C&}o? Tlecle = 2,000 % .20

G 7—[%18 qoo]
b) Cemissicn > 3,000(.02) =
Todwl ard = (8 /402 + (OQ
]$e YA (
Q Ccfa@—m Q-Loc:k C‘&OOKBI ‘TLD-FCISsz‘t (‘D
= [3,9e0. 50

Totel Toid = 13,960 507 2C198%)
(;’f&\‘—( 060 HO (

urr\&-}u fm'mo‘(;p( '\c‘lﬁhecc,:,ytp-g
C/ heter fji nede Tor esch atwele .

< ool | Stecfe 2
""'—-__—__—“ L —
(opoo R 24 52 T 2H5,200 S,000 R 45 55 = 22¢,250
Comissien =155 4245000 00y Commissicn =155+ 220,250 (00 11)
= )55 4 269. 72

—

]

ISS+ 248.67%

= 424,72 = Y2, E78

Todal Puid = 24S 200 t 2 4. 72 + 226,250+ 03.875

"

'h$H72)178.¢o'




